I 1 }
GB/T 78-2000
GB 78-85
: 45H
90° & 120°V 00755, 120°9
. P S T
I =0 N A N (7 e
) — ] \ T J e
M q
u’ 4
l
: ’ . () 20%.
1) 1 120°,
2) s 120° 90° .
3) pws<2P
4)
]
d=M12. =20 mm
M12x20; . 45 H; . GB/T78-2000
2002-04-30 2002-07-01
' «1)»



GB/T 78-2000

mm
d M5 M6 M8 M10 M12 M16 M20 M24
P 0.8 1 1.25 1.5 1.75 2 2.5 3
d, max 1.25 1.5 2 2.5 3 4 5 6
d[ =
e min 2.87 3.44 4.58 5.72 6.86 9.15 11.43 13.72
2.5 3 4 5 6 8 10 12
sy max 2.560 3.071 4.084 5.084 6.095 8.115 10.115 12.142
min 2.520 3.020 4.020 5.020 6.020 8.025 10.025 12.032
4) 2 2 3 4 4.8 6.4 8 10
t min
5) 3 3.5 5 6 8 10 12 15
l
1 000 (p=7.85 kg/dm’)  kg=
min max
8 7.71 8.29 0.73 1.04 . 1.72 2.4
10 9.71 10.29 0.97 1.39 2.35 3.41 4.7
12 11.65 12.35 1.21 1.74 2.98 4.42 6.1 9.7
16 15.65 16.35 1.69 2.44 4.24 6.43 8.9 14.9 22.2
20 19.58 20.42 2.17 3.14 5.5 8.44 11.7 20.1 . 304 39.7
25 24.58 25.42 2.77 4.02 7.08 10.9 15.3 26.6 40.7 54.2
30 29.58 30.42 4.89 8.65 13.5 18.8 33.1 51 68.7
35 34.5 35.5 10.2 16 22.3 39.6 61.3 83.2
40 39.5 40.5 11.8 18.5 25.8 46.1 71.6 97.7
45 44.5 45.5 21 29.3 52.6 81.9 112
50 49.5 50.5 23.5 32.8 59.1 92.2 127
55 54.4 55.6 36.3 65.6 103 141
60 59.4 60.6 39.8 72.2 113 156
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